F25E 3 KA
R EHRX sy FEFBNFRE
(B Fpk284F4H1H E ER29E3A31H)
(AL - M)
wEE B B 7 AR e 3 AT & Et AR CINEES FEXGAE
A R S A
l‘ W |REEENL
=4 K38 EHFEIN A 5,561,047 5,561,047 5,561,047
A Ba ALY — BRSNS
1 Gt S e
B F—E AEEI s 2D 5,561,047 5,561,047 5,561,047
A EIINED 377,900 377,900 377,900
% H|FEE 42,596 42,596 42,596
- FHE 123,120 123,120 123,120
" F A R
TG (B R 3,506,666 3,506,666 3,506,666
I e A B 4 S5 R 1 il N7 4 U
(N
EOENEEIEES YN
H—EREEEHEH Q) 4,050,282 4,050,282 4,050,282
H—E AIEEIEEAEEH)=(D)-(2) 1,510,765 1,510,765 1,510,765
Pl DA NN &S 19
| | % |52 BR B RE 2 AN 2% 26 26 7
= H A RESR R 4%
A HMREATEHILE
1% Be& AR FEAT 4%
) BB BT HIE
4 Z OO —EATEENSMLLE
4 W —E R EBI M S E(4) 26 26 26
i S BRI
O | F | B ImFESR R
Hh HAHREATEHE
Be& AR FE R
B AR 7E H14E
Z OO —E ATEENSN
S —E R EESNEHEG)
B — AT 2R (6)=(4)-(5) 26 26 26
PR HE A= ZE(7)=(3)+(6) 1,510,791 1,510,791 1,510,791
B | U | hE R R AT Bh & 2R
B | 48 | e s Je i A A BT A U4
b R & &AL T ER TSN
N5 ] 7 7 AR
D .E%Fﬂfﬁﬂﬁ
H FEX I MRALEILE
LS X Sy AR A A
FEX S MEEEESRE IS
PSR Sy R [ EER S U AR
Z DA OFERIIL S
RN 28 2H(8)
B | ARSI AR
[ EERTNR
[ & B PETE I - AL R
[ JeEE A B 4 S AR 1 A ST A TR KB (BR AN 45
[ JeEE A B 4 S R A ST A ST B
SEER K
FEX A S H 5,031,776 5,031,776 5,031,776
PSR Sy R N4 %
FEXSHEEEESRELH
AR HEEEESE R
ZOMOEERIHE L
eI FHEH9) 5,031,776 5,031,776 5,031,776
HERI IR A= EA(10)=(8)-(9) A5,031,776 A5,031,776 A5,031,776
Y Eh Bk 2= AR (1 1)=(7)+(10) 3,520,985 3,520,985 3,520,985
e A A E BB 2 AR(12) 43,054,956 43,054,956 43,054,956
% AR R S B R A= AR (13)=(11)+(12) 39,533,971 39,533,971 39,533,971
gy | A G IR AR(14)
# | =DM OFEST4 EURRAE(15)
?i Z DA O FE LA FE T 4E(16)
F
]
i VR R EE B R RS 4E(17)=(13)+(14)+(15)-(16) 39,533,971 39,533,971 39,533,971

1K




